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NEW QUESTION 1
Which two pieces of information are necessary to compute SNR? (Choose two.)

A. EIRP

B. noise floor

C. antenna gain
D. RSSI

E. transmit power

Answer: BD

NEW QUESTION 2

A network administrator is implementing a routing configuration change and enables routing debugs to track routing behavior during the change. The logging
output on the terminal is interrupting the command typing process. Which two actions can the network administrator take to minimize the possibility of typing
commands incorrectly? (Choose two.)

A. Configure the logging synchronous global configuration command

B. Configure the logging delimiter feature

C. Configure the logging synchronous command under the vty

D. Press the TAB key to reprint the command in a new line

E. increase the number of lines on the screen using the terminal length command

Answer: CD

NEW QUESTION 3
Refer to the exhibit.

Extended IP access list EGRESS
10 permit ip 1000 0 0.0 0255 any
|

< Output Omitted=

i

intarmace GigablkEtharnsatl o

ip address 209 165 200 225 255 255 255.0
ip acocess-group EGRESS out
clupsles el

speed auto

media-type 4o

An engineer must block all traffic from a router to its directly connected subnet 209.165.200.0/24. The engineer applies access control list EGRESS in the
outbound direction on the GigabitEthernet0/0 interface of the router However, the router can still ping hosts on the 209.165.200.0/24 subnet. Which

A. Mastered
B. Not Mastered

Answer: A

Explanation:

of this behavior is true?

A. Access control lists that are applied outbound to a router interface do not affect traffic that is sourced from the router.

B. Only standard access control lists can block traffic from a source IP address.

C. After an access control list is applied to an interface, that interface must be shut and no shut for the access control list to take effect.
D. The access control list must contain an explicit deny to block traffic from the router.

Answer: A

NEW QUESTION 4
When using TLS for syslog, which configuration allows for secure and reliable transportation of messages to its default port?

A. logging host 10.2.3.4 vrf mgmt transport tcp port 6514
B. logging host 10.2.3.4 vrf mgmt transport udp port 6514
C. logging host 10.2.3.4 vrf mgmt transport tcp port 514
D. logging host 10.2.3.4 vrf mgmt transport udp port 514

Answer: A

NEW QUESTION 5

When configuration WPA2 Enterprise on a WLAN, which additional security component configuration is required?
A. NTP server

B. PKI server

C. RADIUS server

D. TACACS server

Answer: C

NEW QUESTION 6
If a VRRP master router fails, which router is selected as the new master router?
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A. router with the highest priority
B. router with the highest loopback address
C. router with the lowest loopback address
D. router with the lowest priority

Answer: A

NEW QUESTION 7
Which HHTP status code is the correct response for a request with an incorrect password applied to a REST API session?

A. HTTP Status Code 200
B. HTTP Status Code 302
C. HTTP Status Code 401
D. HTTP Status Code: 504

Answer: C

NEW QUESTION 8
Which statement about Cisco Express Forwarding is true?

A. It uses a fast cache that is maintained in a router data plane.

B. maintains two tables in the data plane the FIB and adjacency table.

C. It makes forwarding decisions by a process that is scheduled through the 10S scheduler.
D. The CPU of a router becomes directly involved with packet-switching decisions.

Answer: B

NEW QUESTION 9
Which IP SLA operation requires the IP SLA responder to be configured on the remote end?

A. ICMP echo
B. UDP jitter

C. CMP jitter

D. TCP connect

Answer: D

NEW QUESTION 10
Which statement about multicast RPs is true?

A. RPs are required only when using protocol independent multicast dense mode.

B. RPs are required for protocol independent multicast sparse mode and dense mode.

C. By default, the RP is needed periodically to maintain sessions with sources and receivers
D. By default, the RP is needed only to start new sessions with sources and receivers.

Answer: D

NEW QUESTION 10
Which two mechanisms are available to secure NTP? (Choose two.)

A. IP prefix list-based

B. IPsec

C. TACACS-based authentication
D. IP access list-based

E. Encrypted authentication

Answer: DE
NEW QUESTION 15
Which statement explains why Type 1 hypervisor is considered more efficient than Type 2 hypervisor?

A. Type 1 hypervisor runs directly on the physical hardware of the host machine without relying on the underlying OS.
B. Type 1 hypervisor enables other operating systems to run on it.

C. Type 1 hypervisor relics on the existing OS of the host machine to access CPU, memory, storage, andnetwork resources.

D. Type 1 hypervisor is the only type of hypervisor that supports hardware acceleration techniques.
Answer: A

NEW QUESTION 16

Which statement about a fabric access point is true?

A. ltis in local mode an must be connected directly to the fabric border node.

B. It is in FlexConnect mode and must be connected directly to the fabric border node.

C. Itis in local mode an must connected directly to the fabric edge switch.
D. Itis in FlexConnect mode and must be connected directly to the fabric edge switch.
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Answer: C

NEW QUESTION 19
Drag and drop the characteristics from the left onto the correct infrastructure deployment types on the right.

on Premises

‘ VLS a7 T B df QW are, Pr Coe-e- DUl SysLearis

‘ [-* 1= T SiSlE 3 =
=== < LS ik E 3

u, res 3 =srrondg and stabla imrarn

FEafPLIETET i -1, & &t Corire

A. Mastered
B. Not Mastered

Answer: A

Explanation:
On premise: customizable,specific requirements,resources Cloud: scale, built-in automated backup, strong stable internet

NEW QUESTION 20
IS OSPF, which LAS type is responsible for pointing to the ASBR router?

A.type 1
B. type 2
C. type 3
D. type 4

Answer: D

NEW QUESTION 22

What the role of a fusion in an SD-Access solution?

A. provides connectivity to external networks

B. acts as a DNS server

C. performs route leaking between user-defined virtual networks and shared services

D. provides additional forwarding capacity to the fabric

Answer: C

NEW QUESTION 24

What is a benefit of deploying an on-premises infrastructure versus a cloud infrastructure deployment?
A. faster deployment times because additional infrastructure does not need to be purchased

B. lower latency between systems that are physically located near each other

C. less power and cooling resources needed to run infrastructure on-premises

D. ability to quickly increase compute power without the need to install additional hardware

Answer: B

NEW QUESTION 27

What is a benefit of data modeling languages like YANG?

A. They enable programmers to change or write their own application within the device operating system.
B. They create more secure and efficient SNMP OIDs.

C. They make the CLI simpler and more efficient.

D. They provide a standardized data structure, which results in configuration scalability and consistency.
Answer: D

NEW QUESTION 30

Which statement describes the IP and MAC allocation requirements for virtual machines on types 1 hypervisors?

A. Each virtual machine requires a unique IP and MAC addresses to be able to reach to other nodes.
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B. Each virtual machine requires a unique IP address but shares the MAC address with the physical server
C. Each virtual machines requires a unique IP address but shares the MAC address with the address of the physical server.
D. Each virtual machine requires a uniqgue MAC address but shares the IP address with the physical server.

Answer: A

NEW QUESTION 33

A local router shows an EBGP neighbor in the Active state. Which statement is true about the local router?
A. The local router has active prefix in the forwarding table from the neighboring router

B. The local router has BGP passive mode configured for the neighboring router

C. The local router is attempting to open a TCP session with the neighboring router.

D. The local router is receiving prefixes from the neighboring router and adding them in RIB-IN

Answer: C

NEW QUESTION 35
Refer to the exhibit.

GO0 Linkl GOS0
GOy1 Limk2 oSl
EWZ2#show sSpanning-tres
sy 1
Spanning tree enabled proctooocl i1ees
oot ID FELAQETARY 22TEF
Address = o 05
Co=tT £
P Gigak E
Hello Time 2 mec fax Age 20 aec Forward Dela 15 asc
Bradge ID Priority B2TED riority JIZTER sy=-id-ext L)
A 5000 £
Hells Time 2 &ac lax hge= 2 L Forward Dela 15 &:ecs
Agang Time = 3ec
Incerface Role St= Cost Brip bx Type=
51 RBoot FWD 4  i128.3 EZp
' el -'—\. __?'- o ] ;-

Link1 is a copper connection and Link2 is a fiber connection. The fiber port must be the primary port for all forwarding. The output of the show spanning-tree
command on SW2 shows that the fiber port is blocked by spanning tree. An engineer enters the spanning- tree port-priority 32 command on GO/1 on SW2, but the
port remains blocked. Which command should be entered on the ports that are connected to Link2 to resolve the issue?

A. Enter spanning-tree port-priority 32 on SW1.
B. Enter spanning-tree port-priority 224 on SW1.
C. Enter spanning-tree port-priority 4 on SW2.
D. Enter spanning-tree port-priority 64 on SW2.

Answer: A

NEW QUESTION 38
Which LISP infrastructure device provides connectivity between non-sites and LISP sites by receiving non-LISP traffic with a LISP site destination?

A. PETR

B. PITR

C. map resolver
D. map server

Answer: B

NEW QUESTION 42

Which First Hop Redundancy Protocol maximizes uplink utilization and minimizes the amount of configuration that is necessary?
A. GLBP

B. HSRP v2

C. VRRP

D. HSRP v1

Answer: A

NEW QUESTION 43

What do Cisco DNA southbound APIs provide?

A. Interface between the controller and the network devices
B. NETCONF API interface for orchestration communication
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C. RESful API interface for orchestrator communication
D. Interface between the controller and the consumer

Answer: A

NEW QUESTION 45
Which statement about route targets is true when using VRF-Lite?

A. When BGP is configured, route targets are transmitted as BGP standard communities.
B. Route targets control the import and export of routes into a customer routing table.

C. Route targets allow customers to be assigned overlapping addresses.

D. Route targets uniquely identify the customer routing table.

Answer: B

NEW QUESTION 49
Which QoS component alters a packet to change the way that traffic is treated in the network?

A. Marking
B. Classification
C. Shaping
D. Policing

Answer: A

NEW QUESTION 53
Refer to the exhibit.

Rl#debugy 1p ospf hello
Rl#dabog condition interfacae Fad/1

Which statement about the OPSF debug output is true?

A. The output displays all OSPF messages which router R1 has sent to received on interface FaO/1.
B. The output displays all OSPF messages which router R1 has sent or received on all interfaces.
C. The output displays OSPF hello messages which router R1 has sent received on interface Fa0/1.
D. The output displays OSPF hello and LSACK messages which router R1 has sent or received.

Answer: C

NEW QUESTION 57
How does Cisco Trustsec enable more flexible access controls for dynamic networking environments and data centers?

A. uses flexible NetFlow

B. assigns a VLAN to the endpoint

C. classifies traffic based an the contextual identity of the endpoint rather than its IP address
D. classifies traffic based on advanced application recognition

Answer: C

NEW QUESTION 59

Which description of an SD-Access wireless network infrastructure deployment is true?
A. The access point is part of the fabric underlay.

B. The WLC is part of the fabric underaly.

C. The access point is part the fabirc overlay.

D. The wireless client is part of the fabirc overlay.

Answer: C

NEW QUESTION 62
Refer to the exhibit.

AS1 ' AS2

- i —h
e . =
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Which configuration establishes EBGP neighborship between these two directly connected neighbors and exchanges the loopback network of the two routers
through BGP?
A)
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R1(config)¥router bgp 1
R1(config router)neighbor 192.168.10.2 remote-as 2
R1(config router)network 10.1.1.0 mask 255.255.255.0

R2?(configFFrouter bgp 2
R2Z(confiqg router ) Tnelghbor 192.168.10.1 remote-as 1
R2Z2(config-router)snetwork 10.2.2.0 mask 255.255.255.0

B)
R1(conhg)¥router bgp 1

R1{config-routcr J#neighbor 10.2.2.2 remote-as 2
R1(config-router )#network 10.1.1.0 mask 266.266.266.0

RZ(config)#router bgp 2
R2(config router)@¥neighbor 10.1.1.1 remote-as 1
R2(config router)metwork 10.2.2.0 mask 255.255.255.0

C)

R1(conhg)=router bgp 1
R1(conhg-router ) =Zneighbor 192.168.10.2 remote-as 2
R1(conhg-router )J=network 10.0.0.0 mask 255.0.0.0

R2Z(conhg)=router bgp 2
RZ(conhg-router J#neighbor 192.168.10.1 remote-as 1
R2Z(config-router )#network 10.0.0.0 mask 266.0.0.0

D)

R1(config)router bgp 1

R1(config router)¥neighbor 10.2.2.2 remote-as 2
R1(config router)Tneighbor 10.2.2.2 update-source 100
R1(config-router rnetwork 10.1.1.0 mask 255.255.255.0

RZ(conhig)=router bgp 2

RZ(conhg-router J=neighbor 10.1.1.1 remote-as 1
RZ(conhg-router neighbor 10.1.1.1 update-source o0
R2Z2(conhg-rouler J=network 10.2.2.0 mask 2565.25665.266.0

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 65
Which JSON syntax is valid?

("switch™ "'name” “dist1” “interfaces™ (g1’ "'9ig?" "gig3’])
[swalch (‘name’ dist1’ interfaces (g1, 992. gd’ )}
Cswilch™. ("'name”. “dist1”, “interfaces™. [[g1°, g2, "gigd’})

(Fewitch/™ [Mname/ “dist1” Minterfaces” ['gig1”. 992" "gig3)}}

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 67
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Which two protocols are used with YANG data models? (Choose two.)

A. HTTPS

B. SSH

C. RESTCONF
D. TLS

E. NFTCONF

Answer: CE

NEW QUESTION 68
Which statement about TLS is true when using RESTCONF to write configurations on network devices?

A. Itis provided using NGINX acting as a proxy web server.
B. It is no supported on Cisco devices.

C. It required certificates for authentication.

D. It is used for HTTP and HTTPs requests.

Answer: C

NEW QUESTION 71
To increase total throughput and redundancy on the links between the wireless controller and switch, the customer enabled LAG on the wireless controller Which
EtherChannel mode must be configured on the switch to allow the WLC to connect?

A. Auto

B. Active
C.On

D. Passive

Answer: C

NEW QUESTION 74
What is the correct EBGP path attribute list, ordered from most preferred to the least preferred, that the BGP best-path algorithm uses?

A. weigh

B. AS path, local preferenc

C. MED

D. weight, local preference AS path, MED
E. local preference weight AS path, MED
F. local preference, weight MED, AS path

Answer: B

NEW QUESTION 78
Refer to the exhibit.
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SwitchClahow vtp atatus

YVIP Version

Configuration Revisisn

ViLANs supporzed locally
Mumber of exiscing VLIANa

VI?P Opercating Modas

VIP Domain Wame

VIP PFruning Mode

Maximmrs

VIP V2 Mode

VIP Traps Generacion

MD5 digest

Configuration last modified by 0.0

SwitchC#show vlan brief

o -
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B et e e
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SwitchC#ahow int trunk
Mode
Gigl/1l on

Gigl/d on

Poare

AT

0
du n
[ENEN |

b pe

kb =

-..0utput omitsted...]

Viane allowed
1-1008
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'rl 1-..--
i i,3110,210,310

wcap=ulation

-1q
-

i trunk

2
o
: 255

8
Transparent
cisco.com
Disahlead
Disabled
Dizabled
OxES Ox2E O

0.0 ac 1-10-1

x50

Ox3E OxdF OxES

9 05:01:38

Ecactus rorts
active Fadys32, FalOss, Fald/s,
zal/7, Falsg, Fadss
Fals1y, Fags12, Ea
FaQsls, Eal/1le, Fal
Fadrs15, Fad/=20,
Fals23, Fadys2a, Fol
active
active FalGsl
aACTive raC/fa
Status Native vlan
crunking i
trunking i

SwitchC#ahow ran interflace port-channel 1

interface Port-channel 1
description Uplink to Core
awitchport mode trunk

spanning tree forwarding state and not pruned

F17 FaQ/liG

Fa0/21. Fa0s22

SwitchC connects HR and Sales to the Core switch However, business needs require that no traffic from the Finance VLAN traverse this switch Which command

meets this requirement?

A)

SwitchCl(conhg =vtp pruning

B)

SwilchClconhg = vtp pruning vian 110

C)

SwitchC(confhig)#interface port-channel 1
SwilchClconhg-iN=switchport trunk allowed vian add 210,310

D)

SwitchC(config)#interface port-channel 1
SwitchC(config-if#switchport trunk allowed vian remove 110

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 81
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Which feature is supported by EIGRP but is not supported by OSPF?

A. route summarization

B. equal-cost load balancing
C. unequal-cost load balancing
D. route filtering

Answer: C

NEW QUESTION 82
Refer to the exhibit.
Mame is Bob Johnson

Ageis TS
1= alive

F avorite Tonds are
= Cereal

= Mustard

= Dnions

What is the JSON syntax that is formed the data?

A. Name: Bob, Johson, Age: 75, Alive: true, Favourite Food
B. [Cereal, "Mustard", "Onions}}

C. Name", "Bob" Johson", "Age", 75, "Alive", true, "favourite Foods", ['Cereal, "Mustard", Onions"}}
D. Name', '‘Bob Johson,' 'Age’, 75, 'Alive’, true, 'favourite Foods' 'Cereal’, 'Mustard', 'Onions'}
E. Name". "Bob Johson", "Age": Seventyfive, "Alive" true, "favourite Foods" ,[Cereal” "Mustard" "Onions"}}

Answer: C

NEW QUESTION 84
What is the difference between a RIB and a FIB?

A. The RIB is used to make IP source prefix-based switching decisions
B. The FIB is where all IP routing information is stored

C. The RIB maintains a mirror image of the FIB

D. The FIB is populated based on RIB content

Answer: D

NEW QUESTION 88
Which two operations are valid for RESTCONF? (Choose two.)

A. HEAD

B. REMOVE
C. PULL

D. PATCH
E. ADD

F. PUSH

Answer: AD

NEW QUESTION 89
What are two common sources of interference for WI-FI networks? (Choose two.)

A. radar

B. LED lights

C. rogue AP

D. conventional oven
E. fire alarm

Answer: AC

NEW QUESTION 93
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